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Dpyfibr cBerue 100 u,o 0,6 14,1 /0.5 338

umo20 940 35,45 32.55 135.1 I 964.44
l,lToro 3a AeHb: 940 35,45 32,55 4,44

5 3aerpax 'op.6npao

op.HanrTox

ue6
ppyKrbl

umo20 0 0 0 0 0
5 C6ea raKycKa JBOU{r nO e3oHy ou 0,48 0.06 1,O2 o 71

1 6apao Jyn Kapro+enbHbri c Kpynoi 250 5,82 8.53 6,35 127,U 98
26npAo (ornera,6uroqKu.uHtrqenb 82,5 12,34 18,15 10.74 258
'aoHnD (anycra ryueHaq 150 al 4,86 14.14 112,7 321
HANhTOK (eSrp 2W I 106 386
ve6 6en.

ve6 cepx. ne6 preHoi 80 4,45 0,89 39,04 181,85
DpyfiH cBerue 100 0.6 0.6 't4 70.5 338

umozo 922.5 JZ.OJ 38.09 o? oo 862,39

5 l,lroro 3a AeHb: 922,5 32.63 38,09 q?@ 862,39

2 3aarpax rop.Orrcao

op.HanuToK

ue6
DOVKTbI

umoz0 0 0 0 0 0
2 l6ea ]aKvcxa Oaor4n no esoxy 60 0,48 0,06 1,02 71

1 6na2o 3yn Raproo.c MaKapoHaMtr 250 7,66 8,58 17.'t4 176,42 82

Z 6npao Jary re xyphqH 150 13,8 95,4 289
'apHtrp

rantrToK Kuenb re SpyFoB 2@ 0,39 0,1 30,1 5 140,8

oe6 6er.
ue6 qeoH. ue6 preHoi 80 4,45 0.89 39,04 181.85

DpyKH €eMe 100 0.6 0.6 14,7 70,5 338

umoeo 840 15.58 | 3,83 115,85 670,97
l4Toro 3a IeHb: 640 15.54 13.83 115.85 670,97

2 2 3aBrpaK fop.6nbAo

'op.HantrToK

cne6

DPVXTbI

umozo 0 0 0 0 0
2 2 O6e4 3axYcxa JAOT4U nO €3OHy 60 o.4a o.06 1.O2 6 71

1 6nrcao lyn xapTo(DenbHui c 0060BHMtr m t.1 a'l 7,8 71,7 102

2 6npno (ornerH.6mocxh pHoHHe 80 o71 3,69 1 1,96 175,48 234
I tuo lppe (apro+enbHoe 150 I,U 12,42 25,14 24'l 128

HANtrTOX (oMnoT ,3 cBeKx (ppyfioB N o,r6 0,16 27,8 114,6 342
xre6 6en.

xre6 ceDH. oe6 pxaHori 80 1.45 0,89 39,04 81,85
DpyffiH cBerue tm 0,6 0.6 14,7 70,5

umoeo 870 20,86 22,32 127.5 861.1

UToro 3a aaHbi, 470 :ZV,OA 22,32 127,5 861,r3
2 3 3aBrpaK roo.6rpao

ioD.HanrToK

xne6

0pvxrut

umoz0 0 0 0 0 0
2 3 O6eA 3axvcKa JBOU.4h nO Ce3OHy 60 0,48 0,06 1,02

1 6npao )opu{ c KanycTon tr KapTo(peneM 250 6,4 10,03 171.O4 az
2 6apto JANEKAHXA TAODOBA9 190 2.8 30 200.4
rapH 6p .ltrlo BapeHoe 40 5,1 4,6 0,3 63
HANhTOK $of,oxo KunnqeHoe 200 5,6 4,9 q? '104,8 385

xne6 6en

xne6 ceDH. oeb pxaHot 80 4,45 0,89 39,04 181,85
ppynH cBerue 0,3 0,3 338

lHp rBepAbli 20 c.Jl 0 68.68 15

umo20 890 JU.JJ 33,3 98,56 831,07



? 3 ,4Toro 3a AeHb: 890 JU,JJ JJ,J 98,56 431,07
2 3aBrpax rop.6nrc.qo

rop. HanxTox

xne6

iovxrur

umoz0 0 0 0 0 0
2 O6eA JBOtqU nO Ce3OHy 0.48 0,06 1.02 6 71

I 6arcao )acconurrx lexutrpaAcKhii 250 6,36 8,9 I 1,8'l 158,34 96
2 6^pao reqeHb xapeHat 50 18.4 17 q 308
rapHhp vraKapoHHbte n3Aenxr oTBapHbte 150 5,6 199.7 203
ranxToK .oMnoT u3 cyxoQpyfioB 200 u.oo 0,09 32.0'l 132,8 349
xre6 6eI.
xre6 qepH xne6 pxaHoi 80 4,45 0,89 39,04 18'1,85

QpyKH caewe '100 0,6 0.6 't4 70,5 338

umo20 890 36.55 32.14 150,18 1 057.1 9
2 l4Toro 3a aeHb: 890 32,'t4 1 50.1 ru5/,lv
2 5 3aBrpax oo.6nrcao

OP.HANHTOK

re6
ppyKrbl

umo20 0 0 0 o 0
2 5 C6eA raKycxa f Bor4h no e3oHy 60 0,48 0,06 t.02 6 1

I 6rpao lyn KaprooenbHbri c Kpynoi 250 5,82 127,34 98
Z 6^pao (oTneTa,ouTocKr,uHrqenb 12,38 18,'15 10,74 258 zo6
raoHhD (aua (rpecHeBag,ggHeBan,nueHHar n np) '150 8.85 /,bJ 212,15 182
HANXTOX (e$up 200 5,8 5 I 106

xre6 6e,
xre6 cepH. ne6 pxaHoi 80 4,45 0,89 39.04 181 .85

Dpynbr cBerue 100 v,o 0,6 14,7 70,5 JJ6

umozo 922,5 38,38 38,38 961,84
2 ,lToro 3a aeHb: 9?? 38,38 38.38 7,7 961,84

cDelHee 3HaqeHge 3a neDtro!: 902.5 za.9J9 JO. I t.23 at6./t6


